YK-632A-AAA-0

PITT Qube

29
30

27

28

.\@ R G0 L

n
v

®

®

1)

:@.

ATy &

,_ o | mES QOOBROE
o—IHEHE

2025/01/14 13:27:50

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube

YK-632A-AAA-0

No. LS & g - ME ERE  Eff -5
1 034824401 YK-32E—4%—7 X 7749—H 1 0
2 034144201 YK-25 1V V#(30UF-25V) JHCT084.01. |1 2,500
001-30UF-
250V

3 034144501 YK #49-I(NBR ¢ 8* ¢ 22.2*T4.5) JHCTO051.02. |2 400
004

4 034144601 YKEIFE C 7 1L HERm(SUS201 ¢ 8) GB894.1 8- |1 200
201

5 034144701 YK 759 MEE(SUS201 ¢ 8.2* ¢ 20*1) JHCT038.02. |1 200
005-201

6 034144801  |YK Apzhhs-M( o 8F) JHCT061.01. |1 1,100
001

7 034144901 YK O)79" (NBR ¢ 52* ¢ 2.5) JHCTO051.01. |1 400
173

8 034143101 YK-25 *ht" 952 (FC200) JHCT025.18. |1 2,700
039

9 034145001 N 2EE£(SUS201 M4R) GB93 4-201 |4 200

10 034145101 FFREFAT ST (SUS201 M4*12) GB818 4 200
M4x12-201

11 034145201 YK OY”9" (NBR ¢ 5.5* ¢ 2) JHCT051.01. |1 200
048

12 034145301 FSA I VMC2800 M6*8) JHCT078.01. |1 200
024

13 034145401 YK O)79" (NBR ¢ 89* ¢ 5.2) JHCTO051.01. |1 400
010

14 034149101 YK-32 790N - (PP-GF20) JHCT003.03. |1 2,900
020

15 034149201  |YK-32 EIR3I-} (VCT 3C*0.755Q 4M) JHCT087.26. |1 5,800
005

16 034149301 YK-32A70-pA1yF (VCT 3C*0.755Q 0.65M) [JHCT014.01. |1 4,200
106

17 034149401 YK-321-} ¥-2 (EPDM) JHCT052.01. (2 500
036

18 034149601  [YK-32F-7"W7-1- JHCT056.02. 2 200
008 (PAG-
GF20)

19 034149701 YK-325-7" 17" )5y b JHCT055.01. |1 300
001 (PA6-
GF30)

20 034149801 +F 9L V9" 297 (S35C ST ¢ 3.9*32) JHCT078.02. (3 200
018

21 034146101 BEmE MR TFIET (463%6.5) JHCTO041.01. |1 200
001

22 |034146201 (#EFHEEMNERAIRTET (02.6%6.5) JHCT041.01. (3 200
003

Copyright(c) KOSHIN Ltd. All Rights 2 2025/01/14 13:27:50

Reserved.




PITT Qube

YK-632A-AAA-0

No. mE & g - ME ERE  Eff S

23 (034146301 [iEm/AY R JHCT085.01. |1 200
001

24 |034145301 [|A<ERNF WHC2800 M6*8) JHCT078.01. |1 200
024

25 |034146401 |\ EE£(S35C M4F) GB93 4 1 200

26  |034146601 [+oRfrA N3 (S35C M4*8) GB818 M4x8[1 200

27 |034149901 [+FAMI9E 0 35 (ST 9 4.5%28) JHCT078.02. |4 200
005-201

28 |034150001 [|FE#&($4.3"$9.8'1) JHCT038.02. |4 200
031-201

29  |034147001 [T Zoofifvt’ 7 2 (SUS201 ST3.56°12)  [JHCT078.02. [1 200
021

30 |034147101 |YKOUY)" (EPDM ¢3.5*¢ 1.5) JHCT051.01. |1 200
122

31 |034152501 |YKEAFE EIEH#H(SUS31666) 1.4) JHCT 1 200
SUS316¢ 6

32 |034150101 |YK-532 50HZ 1/A°5 JHCT009.03. |1 2,400
146 (PAG6-
GF30)

32 |034150201 |YK-632 60HZ 1/A°5 JHCT009.03. |1 2,400
151 (PAG6-
GF30)

33 |034152401 |[FE£(SUS30466.5% ¢ 18x1.4) JHCT 1 200
SUS304
6.5*18*1.4

34 |034147301 [+4avFvh (SUS201 M6) GB6182 M6- |1 200
201

35  |034824101 |YK-32 & y7° M5 0" 43 JHBZ029.01. |1 2,700
028

37 |034145701 |YK3EER(SUS201 6 6) GB3086 |1 0

38 |034145801 |YKEBERU7-1- (SUS201 ¢3.6* ¢ 770.7) JHCT038.04. |1 0
032

39 |034145901 |[+3ocfiovt’v5 3y (SUS201 ST2.9'8.5  |GB845 1 0
ST2.9x8.5

40 |034150401 |YK-32 OU7%" (NBR¢ 125 ¢ 3) JHCTO051.01. |1 300
015

41 |034150501 |YK-32 K ¥7°A - (PP-GF20) JHBZ026.01. |1 2,700
026

42 |034150601 |+ fd49t° v9 %7 SUS201 ST¢4.2°18  |GB845 3 200
ST4.2x18-F-
201

43 |034150701 |YK-32 OY”% (EPDM ¢ 37.46* ¢ 3) JHCTO051.01. |1 200
006

44 |034150801 |YK-32 BLHETIF (PP-GF20) JHCT028.03. |1 500
012

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

2025/01/14 13:27:50




PITT Qube

YK-632A-AAA-0

No. i LLE Mg - HE BRI Eff T
45 034077501 SM-32 hy7° vy ABS & 1 400
46 034006601 SM-32 1977 Uu)" IV vkY CR 1 200
47 034077601 SM-32 4573297° I ABS & 1 300
48 034077701 SM-32 32X25 4573297 lb ABS & 1 300
49 034151701 Y1tV VR 940 (SUS201 ¢ 25- ¢ 40) i)l—é%T063.02. 1 500
50 034148701 YTtV 9 32 (SUS201 ¢ 22- ¢ 32) JOI-_I|(_.;,T063.02. 1 400
51 034142201 YK-532A-AAA-088HR 5 N b 54000729 |1 200
51 034142101 YK-632A-AAA-0881R 5 ~NIL 54000731 |1 200
52 034140901 YK-32B&H S NI 54000732 |1 200
53 034151801 YK-32A POPZ NJL 1 300
00 039038301 TREIN 5747 1EY 1 500 & 14cc
100CCA
00 034141101 YK-328YER 53002265 |1 600

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/14 13:27:50




